3l DRILL CHART o o5 SRS  This Cap Needs to press fit BILL OF MATERIAL (621.72) PER EACH CORNER
3 é 1'-13 ;/4' i rﬁ . r "_% 4.___| aryY DESCRIPTION ASTM DESIGNATION
S| Y —
POST “1~4" 4 3_|r-2 11/16° ﬁ,,.x 33 4, W 7 li' | = 1 _|THRIE BEAM TERMINAL CONNECTION <10 Go) AASHTO MI80
1 4 |V-8 3/8 s 1 _|THRIE BEAM TRANSITION @ 7'-3 1/2" <10 Ga) AASHTO M180
11 38"~ = ——Laé'ag. . ves e ﬂ 1 |CONNECTIDN PLATE A36
l_ 6 7% ves iz -~ | F l 2 |l2’ 6 THRIE BEAM (12Ga) AASHTO M180
I U ] 7 8 I i 4_|W6X25 POST @ 8'-0’ (PUNCHING VARIES - POST 1~4) A572 Gr. 50
1 e -+ $’ masesm) l 1 |DEFLECTOR PLATE ¢APPROACH OR TRAILING) A36
55" } 1 e 1 [8* X 4" X 5/16* RAIL @ 9'-4" AS500 Gr. B
2 | I 1 unch 1/2'6 In the 1 _[4" X 4" X _1/4° RAIL @ 9'-4" AS00 Gr. B
i LD Il & H L 1 |8’ X 4" X _1/4" END CAP A36
i H y an 33 1_[4° X 4" X 1/4” END CAP A36
i afl 1 [7° x 3" x 3/8" SPLICE TUBE @ I' 1l 3/4’ AS00_Gr. B
ol R 2} 1_[3" x 3" x 5/16" SPLICE TUBE @ 1’ 1l 3/4" AS00_Gr. B
L 1y 8 |@ 3/4° SCH. 40 PIPE e 1/2° AS3
PER CHART I l%__ - 8 |¢ 5/8" X 1 374" HEX BOLTS A307
I 12" 8 |4 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
vt 8 1 l B 7 | 3/4° X 6’ CARRIAGE BOLT, & NUT A307
(TYP.)| :l- 1 |# 3/4 X 2° CARRIAGE BOLT, & NUT A307
3 I & gy T g ] 15 |# 5/8° X 1'-6’ BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, F844 or 307, & AS63
< 12" Il T gd b—v— 32 |8 5/8° X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
: - T 19 |3/16" SPEC. PLATE WASHER € 1 3/4° X 3" A36
(TYP.) 16 |# 3/4 X 6’ ROUND HEAD BOLT, F.W., LOCK W. & NUT £449, F436, ASME BI8.2L1, & AS63
Il 13
) ®16" 10_|6 X 8’ wOOD POST @ 7/-0" SUPPLIED BY OTHERS
8'-0" weXes-A A L I 9 |6 X 8’ wOOD BLOCKOUTS @ 1'-6° SUPPLIED BY OTHERS
L~ FOR /l/_ 1 |6 X 8’ WwOOD BLOCKOUTS € 1'-2° SUPPLIED BY DTHERS
— T GALV. 7
I (TYP.) \€> HARDWARE APPLICATION
| " Qry DESCRIPTION ASTM DESIGNATION APPLICATION
' 1
A | 8 |# 5/8° X 1 3/4' HEX BOLTS A307 USED_IN_SPLICE TUBES
| CONNECTION PLATE DETAIL B | 8 |# 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 FOR SPLICE TUBES,
. : : f— C 7 |# 3/4" X 6° CARRIAGE BOLT, & NUT A307 TERM. CONN, & CONN, PLATE TO RAIL
3"_r D | 1 |# 3/4° X 2 CARRIAGE BOLT, & NUT 7307 DEFLECTOR PLATE 10 CONN. PLATE
8 28— E | 19 |# 5/8° X -6’ BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, AG6, F844 or 307, & AS63 [THRIE BEAM, TO DFFSET BLOCK, TO 6x8° POST
o 111y F | 32 |# 5/8° X 1 1/4’ BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307 FASTEN PANEL COMPONENTS TOGETHER, CTHRIE, TERMINAL CONNECTOR, TRANSITION SECTION)
G | 19 |3/16" (SPECIAL) PLATE WASHER € 1 3/4° X 3’ A36 USED IN PANEL VALLEY, W/ 18" BOLT
7 H | 16 |# 3/4* X 6 ROUND HEAD BOLT, FL. WASHER, LOCK W. & NUT A449, F436, ASME BIS.2L1, & AS63|FASTEN 4X4 & 4X8 RAIL TO RAIL POST 1~4
| g - ol
1°x1* CLIPPED CORNER:
J ¢ 13 12r = - EXPANSION SPLICE FOR: TS4x4x1/4”
32 o 615 ~TYPE A WIDE PLAIN WASHER ©.824 (REF) !
10" r——% > & 4 ——1 (18/16" x 2" x 5/32°) E’ 5 . 95/8" TAPPED HOLE (@x
1.050 .
' 13“1 - 1118 HEX NUT @34\ /g —~j— 112" 18" (REF) B 374"\ | /2 34 ATS33x5/16°
1116 Ad i6 H; 3/4"SCH. 40 PIPESPACER ~  PBe==== S N —[
I ant ! /_
'I'I — L N __|_:}§.__,,._
I ¢ @ — ne e M=
r I " o —3/8" MIN. — sé,_l
1/8" 1/_581
/™ \ ONbREADEOLT S SRR el AS00 Gr. B
3x6* CLIPPED CORNER @1" (9%) @% 2%) ROUND HEAD BOLT L « . 1 —11%
3‘2 32 ?EF- ; :’5 5/8" NUT(@ DUTER HOLES ONLY)
-2’ L 0033.90055 TACK WELD
ova /V
1'" ®17  pEFPL-LTXT A AR [
EXPANSION SPLICE FOR: TS8x4x5/16* | Mot x 1 v suar _ __,.,__:____,,__,:gpj |59_|
03— 2 EA. !
TS7x3x3/8° APEEDFA-(I:—I-IESEI.JI.VDNRTRzI%IANl%Png'I:[E'ABIElﬁD DRAWINGS ARE FDR CDMPDNENTS)
@ 3/4" ' ASSEMBLE PER STANDARD S-360B
- ITEM g 621.72 | SHEET 1 oF 2
s APPROVED BY: 2 RAIL BRIDGE RATL, T0 GUARDRAIL, TRANSITION
ASOO G B PROJECT: MARLBORO BRF 010-1 (43) VT 9 PRINCIPAL ARTERIAL-NHS, BRIDGE NO. 48
1'-11%' . TOWN OF MARLBORO, WINDHAM COUNTY, VERMONT
R[NO. | DATE | __DESCRIPTION BY] R [NO.| DATE | _DESCRIPTION _|BY|
E EP| E
———————————————— v v
5/8° NUT<@ DUTER o
DRAWN E.P. 4/29/14
HOLES DALY ELDERLEE.INC. { E)%%\%%H%El CHECKED | D.L. 4/29/14
TACK WELD OAKS CORNERS, NEW YORK 14678 APPROVED | . ~
MODIFICATION TO P/N 5143.40056 VERS, SCALE | SorEm
TO CREATE P/N 5143,90056 —gr— e — o R E-Mail: dlong@elderlce. com AL
: ' i Tel:315-789-6670 Fax:315-789-6615 DRAWING NO. FRL MARLBORO-T




'. 104"(TYP)
126" Py | 6%"“” YP)
- //c—)3/4 x 2 1727 SLOT déx) 6X) il ——(I3 — 2'(TYP)
! (@] // (@] O O
;g—— —C;——E)—o ————— —S————-——— — e ——~ — - —————————— —_-——— — e ————=s———— = =
8 (@] O O (@)
4 ————a————————— ——— — — =" —— —=—— Y ————— = —
I o @] ®) @]
(@] (@) (@) (@)
6-3"(TYP)
13-64"
29/32" x 1 1/8” SLOT
(24x)
9'_4"
Q\@@ 711"
%\2\ & 7"8_"
Q_Q ' " 4
N4 ,\?_ 9 '4 ' "
S 3 599" —
?\9\2\0\% 7"1 11" 5"6_"—' 1 3
QQ_Q ® 7! 1" " ' " 4 04
Q¢ N 84 105 3.79n 3
V‘/\Q_V\ 3 4 4 EA, 4 6 "
5| 9 " 3!_4_" 4
2 EA. 5'- 61" 4 63 _{1.53n 4 LoD
3| 7 " 4 1 ) 4 —W 4
4 3 —"41'-2+"| @13/16" THRU (8X 1"
g4 22 21112 AU (0 .
{58 ‘ el T, ~@1"THRU BXY o
LA e B oL [2 ot
|_2" 5 " “1'-21"‘ THljU 8X 1_5_" [:l} — —t — |
2w —r116 S i E————— S I ——— . E— 1 0's | s 17..|_ \61/2 DRAIN HOLE / onl L om]
8 6]__. 1 T_'.—_'_—_'::_'_—_'_—_'_—_'.—_'_- S ST WA M Y B B , 8 BOTTOM ONLY
' 3 .,_| AS00 Gr. B ADD PRESS FIT END CAP—
’ 21" THRU (4X) 2:‘6 THIS END ONLY
7_u
32" 2 21 1/8"(+1/16 / -0") x 3 1/2" (2X) ITEM g 621.72 | SHEET 2 OF 2
it} e BOTTOM ONLY . — l APPROVED BY: ¢ RAIL BRIDGE RAIL TO GUARDRAIL TRANSITION
e O U T N OF MARLBOR, WINDHAM GOUNTY, VERMONT
1 1z"|— @1/2" DRAIN HOLE __/2" 2"_| ENO. DATE | DESCRIPTION ?: R[NO.| DATE | DESCRIPTION _|BY
8 BOTTOM ONLY - ‘ﬂ FIED DRAWN EP 4/29/14
AD00 Gr., B ADD PRESS FIT END CAP— H; ELDERLEE,INC. t_w » FABRICATOR| :;{:&lsig DL | 42014
THIS END DONLY e manaoutdaren s SCALE__| SGREVATIC

Tel:316—-789-6670 Fax:315—789-6615

DRAWING N

0. F.R.L. MARLBORO-T




Material Specification

WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3
ASTM-A500-A53-GRADE B TO A36

Welding Process FCAW-G _
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification A5.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas cO2 Dew Point -40DEGF  FLOW RATE 50 CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
-Root Treatment PER D1.5
Preheat and Interpass Temperature PER. D1.5
Postheat Temperature NONE
Heat Input Min ' . Max
' WELDING PROCEDURE
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 1186 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

1/s”

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3012

Contractor  Elderlee, Inc.

Revision No.

Authorized By RANDY SCOTT

Date 3/20/2014




